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EDUCATION
( Major )
Papet.: 5.5

( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks / Answer the following :
1%7=7

e frapTges 419 o1 o7 ¥ / Tes fl :

(@) The measure of variability independent
of frequencies of the given distribution
is A

are Redq IRFAEOR sorye [pfes @&

= |
(b) The value of coefficient of correlation of
two variables varies between and

7B SeRIFR e ROTEE @ A
o TS SRS 27 |
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(3)
(2)
(B T et it s, 2. Answer the following questions : 2x4=8
istribution, mean an c :
includes ____ % of total scores. O AP T ford1 :
Fole Re3m™ o w@ +15-9 P MR (a) Mention two advantages of frequency
Y% WS (A | distribution table.
(d) If mean is less than median, the IR o IR @Tﬁﬁmww'
distribution is skewed.
TOALT M6 N e Rorem Rawer (b) Distinguish between product-moment
L6 correlation and rank-difference correla-
tion.
() A student ranks 6th in a class of
40 students. Find out the PR of the - CTD DT T -4 IS
student in the class. rers A1) (Y& |
<51 40 o YRS CITe G ZER T FH S
IR | e Faqee" PR @q 41 | (c) In Group (A, N=40, M=20 and
SD=10 and in Group (B), N =60,
() In a cflass. of 19 stu_den.ts, 8 students M= 10 and SD = 5. Find out combined
has failed in an examination. The marks SD of Group (A) and (B).
of the successful students are 41, 57, it
61, 48, 56, 62, 75, 82, 72, 68 and 64. (A) @™ N =40, M =20 9 SD = 10,
Find out median mark of the class. (B) 7@ N =60, M =10 %< SD = 5. 74 (A)
19 & Q@S <1 TS 9B 4_1F 8 & B W% (B) I Y Ve Rpife Mefa 1 |
TR TH | P (F[ RWPIFER TP
X7 41, 57, 61, 48, 56, 62, 75, 82, 72, (d) Write two important properties of a
68 IF 64. GIACOR TFIT T (A7 51 | normal probability curve.
(99 Why is histogram called continuous bar Frefis o390 @1 701 aeeyd a1 T
graph? ot |
HeCEeS o wiikitza nufta 36 o = 2
O
iy 8A/227 f uQner)
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3. Answer any three of the following questions :

5x3=15
©e7S Uf1 oPIRAI R e fofb Teg ford

(@) What is meant by statistics? What are
the limitations of statistical measure-
ment? 2+3=5

Ao R e B o R
R KaRaertz & & 2

(b) What is standard deviation? Why is
standard deviation regarded superior to
other measures of variability? Explain.

2+3=5

e Rpfe R Rpfe smm cremzers
e Rpfee 59 SegB 3fr Reavr a1 =02
ARG 401

() What is meant by percentile point and
pfarcentile rank? Illustrate their
difference with examples. 2+3=5

TRt Ry o ot wm I 5 ogem o
RESCREREEIT ) o RS M

( Continued )

(5)

(d What is correlation? Ranking of

(e)

8A/227

10 students in two subjects A and B are
as follows :

SR (97 10 &9 T93 [E8 A 9F B-9 @

T FPTR oo ] 499 -
5 wiSwwd 7 slogef2ey i 6 g

4 9 5 2 10 3 1 8 7

Find out coefficient of correlation
between the marks of the subjects A
and B by rank-difference method. 1+4=5

FH-1 Tafe Tg A 9F BI IA2eES
Qe ey 41 |

Mention two advantages of graphical
presentation of data. How does a
histogram differ from a polygon?
Explain. 2+3=5
ERifaa T B2 e o1 R e
1 B qgEd A 461 SEerER [

oJ2 7 IR 0|

Explain the concept of Kurtosis by
drawing different types of Kurtosis.
Explain the nature of a curve with

Ku = 0-563. 4+1=5
Rifon o 37 999 o ST I TN T4
YRECOT 0T 91 | Ku = 0-563 € 9O &9
AP I <40
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4. What is mean? Find out mean of the
° following distribution by ‘assumed mean

memod, : 2+8=10
o &7 TS T RSE e SR om s
ﬁcfg 4l :
Class Interval |  Frequency
CANEE | IREEe
55-59 2
50-54 8
4549 10
4044 12
35-39 t 7
30-34 8
25-29 ‘ 6
2024 3
15-19 2
N =60
Or / 9241
Wwhat is quartile deviation? Find out quartile
deviation from the following table : 2+8=10
rofe Rpfe 2 ooR offer [l vede Rpfe
ey 290 :
Class Interval \ Frequency W
M | BRI
90-99 \ 4
80-89 % 7
70-79 ; 9
60-69 g 12
50-59 , 4
40-49 10
30-39 | 9
20-29 i S
N =60
aA j227 ( Continued )

(7))

5. What is product-moment correlation?
Calculate coefficient of correlation from the

following data by this method : 2+8=10
P TF-EICTD TR [$7 T O M @R
ofocq TTFRI QAT T 90 ¢
X O 8 12 !5 18 20 24 28 31
Vhom (10 o128 LlSE RGeS EI2o 8522 (2618 528
Or / 9«1

In an examination, mean marks scored by
400 students is 45 with a standard deviation
of 15. Assuming the distribution to be
normal, find out the following : 5+5=10

(a) The number of students securing marks
between 30 and 60

(b) The limits of the marks of middle 50% of
the student

<5 Qe 400 TE ATS 9 AT TS (AR 45
e T Rtz 15. fre Feie I afRis
were frapTR e 4 :

(@) 30 I 60 T TEe 79 ¢ WA 7RI

(b) GIETEE 50% BT I A

8A/227 (Turn Over



(8)

6. Draw an ogive from the following distribution
table and find out median from it :

8+2=10
o Reqd SR o[/ Bl SEES S 9 W
RERSRGNRZEE T
Eass Interval Frequency
1A TP BIEIEIO]
‘ 60-64 3
55-59 5
50-54 4
45-49 6
40-44 8
35-39 10
30-34 6
25-29 7
| 20-24 1
IL N =50 A
Or / 911

What is skewness? Test the skewness of the
above distribution.

2+8=10
g1 % 2 @og ot Reger «Frs) w41 |

'R
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